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Quantitative Aptitude Sunday Mega Quiz for RRB NTPC - (Solutions)

S1. Ans.(b)
Sol.

M : A - 3 : 7
A : P — 5 : 2
M:A:P—-15:35 :14 - Total - 64
64r— 12000

12000

64
Difference = 35 - 15 =20
12000

1lr —

20r — x 20 = 3750

S2. Ans.(b)
Sol.

D+A=65
D-10 7
A—10 2
2D-20=7A-70
7A-2D=50

7A + 7D = 455
D =45

A=20

Required Ratio =

45+12 57
20+12 32

S3. Ans.(c)
Sol. 3 Months Subscription

Minor girls = 3750 X — X —= 375
10 15

PRPRNTPM

S4. Ans.(c)

ot SUPREME

20 X~ 4+ 4 x -4 25 = 220

YRR T 0

X =88

Total no of coins of 50p & 10p =88 = (2+4) =528

All Railway Video Courses

1 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com


https://store.adda247.com/comprehensive-video/2751/RRB-NTPC-Supreme-Video-Subscription-Validity:-3-Months

S5. Ans.(b)

Sol.
a+b+c 5+9411 25 5
b+c  94+11 20 4
S6. Ans.(a)
Sol.
120
7 X700 21
New Ratio = ———— = —
g x 110 22
100

S7.Ans.(d)
Sol. Data Inadequate.

S8. Ans.(¢)
Sol.

Second part = % ¥ 565=225

S9. Ans.(d)

Sol.

A:B:C:D
=2x4xH6:3%x4x6:3x5=26:3x5=7
=48:72:90:105

=16:24:30:35

$10. Ans.(b)
Sol.
_ G XqgpteaXqp

q; T 42
_4)-(3—|—9><2

3+2
12+ 18 30 Rs.6
=" —— S-
5 5

Cm

S11. Ans.(d)
Sol.

- _ _MD
Poh = Mg - D% o0

M
705 = b — -
1 !{l M 1] 10 10

9M
27 = —

10
M = 30%
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S12. Ans.(a)
Sol.

Working together they will finish the work in

_4x12

C4+12
_4x12

16
= 3 days

$13. Ans.(d)
Sol.
A—Ith 10
4
1 work — 40 days
B— %“d — 20 days

1 work — 60 days
Time will both finish work in
. 60 x 40

100
= 24 days

S14. Ans.(b)
Sol.

Circumference of wire
22
=2x—x56
7

=352 cm

Perimeter of Rectangle = 2(1 + b)
1:b=9:7

l—9%,b—7x

Perimeter = 2(9x + 7x)

=32x

32x =352

x=11

Smallerside=7 = 11

=77 cm

$15. Ans.(b)

Sol.

C.P=320

S.P=3200 =

= 4000 Bs.
BO

M.P = — = 4000
100

M.P = 5000 Rs.

125
100

Live Class

RRB NTPC ¥
SELECTION BATCH é V@
CRASH COURSE ’

daay+ V

A addaayy

/ addgzyy
 Starts February 12, 2020

9 AMto 1PM I Bilingual
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$16. Ans.(d)
Sol.

Distance =55 = 4
=220 km

220

60

Time =
_ 11

3

2
= 33—

3

2
=3h —x 60
3
=3 h 40 min
Time is reduced by 20 min

S17. Ans.(b)
Sol.
8000 X3 Xt 6000xX5xX4

100 100
_b6X5X4

8x3
t=>5 years

$18. Ans.(c)
Sol.
(243}1‘1f§ Y 33]‘14‘1
=
gn x 3n-1
353‘% y gIntl

=
321-1 w 3:1—J.

3:'1 % 32]‘1"‘].
3311—].

33" x 3

= ——
33n w 31
3

=

— =9
1/3

$19. Ans.(b)
Sol.

Sum
50 _ 38
50
Sumeg + 45+ 55 = 1900

S45=1900- 100 =1800

1800
Averagesg = ——

48
=37.5
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S20. Ans.(d)
Sol.

. 3
x sin® 60° — —sec 607
2
2 S 2
tan® 30° 4+ gsm 45%tan” 60° =0

* 3K2K1+4K1K3 0
x _— = —_ —_ —_ =
2 3 5 2

S21. Ans.(b)

Sol.

A:B=3:4
B:C=3.50:3
A:B:C=105:14:12
36.5r— 730

lr— 20 Rs

Difference b/wratioof B&C=14-12 =2
2r— 40 Rs

S22. Ans.(b)
Sol.

Compound Ratio
_yz ZX Xy

x ¥ z
=xyz:1

$23. Ans.(b)
Sol.

A:B=5:4
B-C=9:10
A-B:C=45-36-40
121r — 2420

lr— 20

C gets — 20 x 40
=800Rs
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S24. Ans.(b)
Sol.
Original Assam
5
J
35k
New=2:1
2r—35kg
1—175kg

!
14kg

6 Months Subscription

T RRB NTPC

KA MAHA PACK

Test Series, Live Classes,
Video Course, eBooks

Increased value = 17.5 - 14 Bilingual

=3.5kg

S25. Ans.(c)
Sol.
Fail : Passed
2 9
1 1
R 108

New Passed - Fail
112 - 24
l l
28 3
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